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Question 1

Which electric charge has lines of force drawn away from
the charge?

o - - ‘ - \ L S .Aj
A. Positive e'u@j , 558l shad Lo
NP RPN | = \J.uu \.@_\M

B. Negative
C. Neutral

D. None of the charges



Question 2

Which of the following is the correct statement about the
fundamental characteristic of electric charges?

Al Ce w\ '5‘)\_.\54‘
PAl el il Ay

A. Like charges repel and attract each other.
B. Unlike charges repel and like charges attract each other.
C. Like and unlike charges neither attract nor repel.

D. Like charges repel and unlike charges attract each other.




Question 3

is the Sl unit for charge?

A. J

D. C = coulomb



Question 4

A positively charged object is an object with:

2n e 9 Lula) () endia aues
A. extra electrons

B. lack of electrons i g yiSIY) s

C. extra neutrons

D. lack of protons



Question 5

Two charges, each with magnitude + 6.50 uC, are
separated by a distance of 0.400 cm. Find the force of

repulsion betwee”/tffﬂj K=9.0X10A9N #r = 0.400 cm
L3 q1—+650uC#q2 -650uC

A. 3.65x10°N

"r Kq IqZ — & |Dq) (6 50)(“))’65”\0)
oo T (OhY

C. 2.38x 10°N \: >—__2 %76% {\r

D. 1.46 x 10°1'N




تنافر




K = 9.0 X 10 ^ 9 N  # r = 0.400 cm
q1= + 6.50 uC # q2 =  - 6.50 uC
*    = - 6


























السالب لانه ذكر أنها تنافر


Question 6

What is the electrostatic force between two charges of +6
nC and +1 nC if they are separated by a distance of 2 mm?
(Note: 1 nC =0.001 pC)

d> g0 853 uidl) Ol Ll

A. 6.91 x 101N

B. 1.03 x 102N

C. 1.06 x 104N

D. 1.35x102N






الإشارات للقوتين تكون موجبة 


Question 7

If two equal charges each of 1 C each are separated in air
by a distance of 1 km, what is the magnitude of the force
acting between them?

A. 7000 N

B. 8000 N

C. 9000 N

D. 900 N



Question 8

Calculate the distance between two charges of +4 nC
and -3 nC if the electrostatic force between them is
0.005 N.

393l OLLsIl pugei o als) ddyyl Dasg
N &nnall 898l Cylin ¢ i 3l pall &yl
A. 6.50 x 106 m omall Boall o lha ¢t s Al el Bl

——

B. 8.67 x 10”7 m K[J \CL/Z_

C. 46.0x103m

=
D. 4.6 x103m




وجدت طريقة لحله هي تعويض الخيارات، بالقانون 
والإجابة الصح التي تعطي شيئ مقارب للقوة المعطية N








Question 9

An object carries a charge of +120 pC. Calculate the
magnitude and direction of the force which it exerts on a
second object carrying a charge of =300 uC if the distance
between them is 30.0 cm.

A. 1.00 x 10** N

B. 3.60x103N

C. 4.23x 101N

D. 6.50 x 10° N



Question 10

A balloon with a charge of 4.0 uCis 0.70 m away from a
second balloon with the same charge. What is the
magnitude of the force?

A. 0.29 N
B. 290N
C. 29N

D. 0.029 N





ANSWERS

1. A. positive alall s Ja)

D. Like charges repel and unlike charges attract each
other.

. C

. lack of electrons

. 2.38 x10*N

. 1.35x1072N

. 9000 N

. 46x103m

. B. 3.60x10°>N

10.A.0.29 N

N
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Question 1

is the S| unit for current.

okl

D. A Ampere



Question 2

is the Sl unit for voltage. qu)éj\ Agall

B. v Volt



Question 3

is the Sl unit for resistance. da glaall

AV

C. J

D.Q Ahm



Question 4

Electric energy can be stored in a:

b L 3 (S Al g ALl

A. switch

B. light bulb

C. Capacitor S«

D. resistance



Question 5

When a capacitor is connected to a battery, the plate
connected to the terminal becomes

A. positive, negative

B. negative, positive

C. positive, positive

D. positive, neutral





Question 6

Ohm’s law states that: LAJ e L_Ac ?Ji uﬁ\ﬁ Ll

A. voltage = current - resistance V I R

B. voltage = current + resistance

C. voltage = current + resistance

D. voltage = current x resistance




Question 7

A torch lamp takes a current of 0.3 amperes from a 3 volt
battery. What is its resistance?

V=3V : PR
A. 3Q IZOBBA el 0.3 e DL AL Aledl) ~luas
. R=?0Q Tleiaglan A Lo .l gd 3 4y jUay (1
C. 200 _/4 —_— D 3 p— [Q

D. 35Q —




V = 3 V
I = 0.3 A
R =? Ω















Question 8

A heating element on an electric stove operating on 110
V has a resistance of 20.0 Q. What current does it draw?

Jary (LS M ga o il paic
A. 0.18 A Q. 20.0 Aeslaa 4l Ll d 110 Ao
¢ Jall Sl s L

E=110V
B. 2200 A R=20£2/r
[=77
C. 5.5A ’\ E HD \/

D. 90 A - Rg: Z,gg)' ——
\ %ZA




E = 110 V
R = 20 Ω
I = ??  
























Question 9

A heating element on an electric stove operating on 130V

has a resistance of 20.0 Q. What current does it draw?
V=130V  hoeS Msa o 4l jaic

A. 110 A R=20Q da gl aaaly 130 e Jeno

=77 ¢ Jall oyl s L. 20.0
B. 2600 A — i

T~ \V _I30
C. 0.15A /—_—:—, 2— "6.5A
+ R




V = 130 V
R = 20 Ω
I = ??  
















Question 10

A 10.0 m copper wire (resistivity 1.72 x 10° Q cm) has a
cross-sectional area 9.5 x 10 3 cm?. Its resistance is:

P=1.72X10/6Q [£ (|l .  Clur o o
10 1000 e ”L}kﬂuAJSLQA‘}:&L
I=10m=1000cmf —
B. 1.63x10°0 [t € N
- R Pl _ (172x024 (1000ch)
3 A
C. 1.63 %1070 (ASXI0om

A
D. 5.52 x 10*Q >D %\’“—‘S?__
Rx|D"




P  = 1. 72 X 10 ^-6 Ω
A = 9.5 X 10 ^-3 cm2
I = 10 m = 1000 cm 


غير متأكد من الحل؟! 
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Question 1

In electricity, the kilowatt-hour is a unit of:
A. electric current

B. electric energy

C. electric potential

D. electric power



Question 2

LS zlhan
If a light bulb in a 440-V electric circuit draws 0.5 amperes,

Its power ratingis: 7 - 440 V <3l 4ol

I=05A P=VI
A. 220 W P = ??

P=440X0.5
B. 840 W EPTE

C. 40 W

D. 75W



مصباح كهربائي 


V = 440 V
I = 0.5 A 
P = ??  


القانون الذي يجمعهم
P = VI


P = 440 X 0.5
= 220 W




Question 3

The rate of consuming energy is called:
A. voltage

B. current 3

C. power

D. resistance



Question 4

A soldering iron draws 20.50 A in a 120-V circuit. What is

. -
its wattage rating: ; Dovrer

A. 5.85W V=120V EEE SIRANINEY
1=205A P=VI
B. 99.5W P =77
P =120X20.5
C. 0.171 W 9460 W

D. 2460 W







Power 


V = 120 V
I = 20.5 A 
P = ??  


القانون الذي يجمعهم
P = VI


P = 120 X 20.5
= 2460 W




Question 5

A soldering iron draws 25.50 A in a 120-V circuit. What is
its wattage rating?

V=120V agmazy gl 53l
A. 3060 W [=255A P=VI
P=??
P =120 X 25.5
B. 471 W Pk
C. 0.213 W

D. 945W



V = 120 V
I = 25.5 A 
P = ??  


القانون الذي يجمعهم
P = VI


P = 120 X 25.5
= 3060 W




Question 6

A MP3 system draws 30.50 A in a 120-V circuit. What is its
wattage rating?

A. 3.93 W

B. 3660 W

C. 0.254 W

D. 895W





مثلما سبق 


Question 7

What is the power of a 12-V heater with a resistance of
10Q0?

V=12V Z
A. 120 W R=10%
P:?? aanmm—
e G

B.2 W

C.14.4 W
D.12 W _>_ — H'L,'W






V = 12 V
R = 10 Ω
P = ??  






















Question 8

An electric heater connected to the 230-V mains supply
draws a current of 4A. What is the power of the electric
heater?

V=230V ogazy ol ool
A.920 W I=4A P=VI
P=7??

B.5/.5W

C.230 W

D.950 W





V = 230 V
I = 4 A
P = ??  


القانون الذي يجمعهم
P = VI


P = 230 X 4
= 920 W




Question 9

An electric fire is rated at 550 W. How much would it cost

to operate it for 5 h at $0.08/kWh? P =550 W

t=5H
rate = $0.08/kWh
A. 50.02 Cost = ??
B. $2.2 (o dama yoSAll (o) Joul) dlgs dapybo

KW youdl deuig W 3gall

«SBO/X () [/3=022s

O
)
-




مدفئة


P = 550 W
t = 5 H
rate = $0.08/kWh
Cost = ??  


طريقة سهلة للحل ( من الدكتور محمد حسن ) 
إن القوة W ونسبة السعر Kw 






























Question 10

A TV needs 250 W. It is switched on for 30 minutes. If each
kWh costs 8 cents, how much does it cost to run the TV?
P=250W

ol
C. 4 cents ZSQX XO%:0‘$
D. 2 cents | O D D _>

*Cent that equals 17100 of the basic monetary unit



*Cent that equals  1⁄100 of the basic monetary unit


P = 250 W
t = 30 m = 0.5 H
rate = $0.8/kWh
Cost = ??  
































تبعاً للطريقة التي ذكرت بالسابق 
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Question 1

Byl cpe L8 Kl dagldall e yucl
Find the equivalent resistance of the circuit.
6)'9"]‘ ke dayl] 29 (dagldall ¢ gaxn b

A. 0.5Q

—— R R, R;
= 7000 9000 4.00
m. >X t)-.u.i“ ;,J.Q.B
K il ¢

D

=D.5
Y =199c¢




اعثر على المقاومة المكافئة من الدائرة.


طلب مجموع المقاومة، وهي الرسمة على التوازي






























نقلب الكسر، نضغط ع الحاسبة










Ω




Question 2

Find the equivalent resistance of the circuit.

- Ls_)'g.mul.c—w)” 29 (dagléall ¢ gama b
-A. 2.2 Q)

S Ry R, R
B. 21 Q — 700 9.00Q< 500Q

C. 0.45Q

D. 0.05Q /

_ —|
| = — (0.7 )=
R 7 g =7 +5>




طلب مجموع المقاومة، وهي الرسمة على التوازي


































Question 3

Find the equivalent resistance of the circuit.
§J|9J| ke dawsyl] D9 (dagldall ¢ gaa b

A. 22 Q

— R1 R, R3
= 1005 s0hS e00h

C. 0.42Q

D. 0.04 Q

oS Yol sy Sl B 2o ol 13 53T )b Y20
M.&Lﬁ” Q_J|§4Jb é,U.359



طلب مجموع المقاومة، وهي الرسمة على التوازي




مثل طريقة آخر سؤالين، أهم شيء قلب الكسر بعد اول نتيجة
وكذلك بالسؤالين القادمين 


Question 4

Find the equivalent resistance of the circuit.

6.)‘9“‘” sl dawy) 29 (dogléall ¢ gama (b
A. 0.04Q .
— R R, R:
B. 24 Q) — 7000 9000 8000Q
C. 0380

D. 2.64 Q)



طلب مجموع المقاومة، وهي الرسمة على التوازي




Question 5

Find the equivalent resistance of the circuit.
6)‘9'“” L;J_c. daws 3| D9 4o glaall ¢ 980 b

A. 25Q

—_— Ri R, R3
= 7000 9000 900Q

C. 0.37Q

D. 0.033Q





طلب مجموع المقاومة، وهي الرسمة على التوازي


Question 6

Find the equivalent resistance of the circuit.
¢3A9L§AJ| ¢ 9a>xa0 ;,J.b

A. 4.650 = J\hgw sle oyl o
B. 47 Q | 1=300A 23.0Q
0910 —. 1400 < R
- 0. E=115V 10.0Q2
D. 0.021Q W\J

R3



طلب مجموع المقاومة، وهي الرسمة على التوالي


نجمعهم
23 + 14 + 10 =
 47 Ω 


Question 7

Find the equivalent resistance of the circuit.
¢¢09‘.5.AJ| ¢ 90 ;,J.b

A. 5.04Q r J\}\J@'ﬁ' sle daupll g
B. 0.20 Q | 1=300A 23.0Q
7 il 8
' F=115V 12.0Q)
D. 0.020 Q W\l
0gRa> R3
=12 +14 + 2

249



طلب مجموع المقاومة، وهي الرسمة على التوالي


نجمعهم
23 + 14 + 12 =
 49 Ω 




Question 8

Find the equivalent resistance of the circuit.
(dagldall ¢ gaxn b

A. 5370 = J\}\JQ'S*’” e dawll 5
| 1=300A 23.0Q)
C. 0.19 0 — e
C F=115V 14.0Q)
D. 0.020 Q W\J
ogaex R
=14 + 14 + 2

Q2 51



طلب مجموع المقاومة، وهي الرسمة على التوالي


نجمعهم
23 + 14 + 14 =
 51 Ω 




Question 9

Find the equivalent resistance of the circuit.
¢3A9L5.QJ| ¢ 90 ;,J.b

A. 5.640 r J\}\J@'ﬁ sle deuyll g
B. 0.019Q | 1=300A 23.0Q)
90 — 1400 < R
C. 0.18 E=115V 16.0Q0
o
&R0 Ry
=16 +14 + 23

253



طلب مجموع المقاومة، وهي الرسمة على التوالي


نجمعهم
23 + 14 + 16 =
 53 Ω 




Question 10

Find the equivalent resistance of the circuit.
T— ¢3.A9L§AJ| ¢ 9a>xa0 b

Wy
W

. j

B. 0.17Q /=300 23.0Q)
) 5 % 1400 < R
- 3.8/ F=115V 18.0Q2
D. 0.018 Q W\l
R3

s . . ot (Q,e_szm
Sles pllo go lguid o0 B3





طلب مجموع المقاومة، وهي الرسمة على التوالي


نجمعهم
23 + 18 + 18 = 55 




لا تنسونا من صالح دعائكم 


